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[Time: 3 Hrs]

[ Marks:100 ]

Please check whether you have got the right question

paper.

N.B: 1. All questions are compulsory.
2. Figures to the right indicate full marks.

3. Students answering in the regional language should refer in case of

doubt to the main text of the paper in English.

Q.1

Attempt any two of the following.

A) Explain the circular flow of national income in an open economy.
B) Differentiate between GDP and NNP.

C) Explain the difficulties in measurement of national income.

(20)

Q.2

Attempt any two from the following.
A) Explain in brief the Keynes Law of consumption.
B) Discuss the working of investment multiplier.

C) Explain the factors affecting Marginal Efficiency of Capital (MEC).

(20)

Q.3

Attempt any two from the following.

A) Explain impact and incidence of tax.

B) Explain the merits and demerits of indirect taxes.

C) Discuss benefits and scope of Goods and Service Tax.

(20)

Q.4

Attempt any two from the following.

A) Discuss the meaning and structure of Balance of Payments.
B) What are the causes of disequilibrium in balance of payments.
C) Explain the meaning of foreign exchange market.

(20)

Q.5

Attempt any two from the following.

A) Discuss the importance of consumption function.

B) What are the causes of rising public expenditure in India.
C) Explain the foreign exchange rate and its functions.

D) Explain measuring of GDP in Purchasing Power Parity.

(20)
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